

Recently, Ramírez found a closed expression for the entries of the Pascal rhombus in [13]. He also show a relation between the entries of the Pascal rhombus and a family of generalized grand Motzkin paths.

The aim of this paper is to establish the connection between the Pascal rhombus and the Riordan array. In Section 2, we first recall the concept of Riordan array. Then, we give Riordan array expressions for the right half of the Pascal rhombus and the left-bounded rhombus. In Section 3, a combinatorial description is carried out to give an interpretation of the Pascal rhombus and the left-bounded rhombus in terms of the 2-generalized Motzkin paths. Moreover, using the k -generalized Motzkin paths, we introduce the concept of k -generalized Pascal rhombus and left-bounded rhombus. Finally, explicit formula for the generic elements and row sums of the k -generalized Pascal rhombus and left-bounded rhombus are obtained.

2. A RIORDAN ARRAY DESCRIPTION OF THE PASCAL RHOMBUS

We will encounter Riordan arrays in this paper. So, we briefly recall the notion of Riordan arrays [16, 4, 7, 9]. An infinite lower triangular matrix $G = (g_{n,k})_{n,k \in \mathbb{N}}$ is called a Riordan array if its column k has generating function $d(t)h(t)^k$, where $d(t) = \sum_{n=0}^{\infty} d_n t^n$ and $h(t) = \sum_{n=1}^{\infty} h_n t^n$ are formal power series with $d_0 \neq 0$ and $h_1 \neq 0$. The Riordan array corresponding to the pair $d(t)$ and $h(t)$ is denoted by $(d(t), h(t))$, and its generic entry is $g_{n,k} = [t^n]d(t)h(t)^k$, where $[t^n]$ denotes the coefficient operator.

The set of all Riordan arrays forms a group under ordinary row-by-column product with the multiplication identity $(1, t)$. The product of two Riordan arrays is given by

$$(d(t), h(t))(g(t), f(t)) = (d(t)g(h(t)), f(h(t))), \tag{2.1}$$

and the inverse of $(d(t), h(t))$ is the Riordan array

$$(d(t), h(t))^{-1} = (1/d(\bar{h}(t)), \bar{h}(t)), \tag{2.2}$$

where $\bar{h}(t)$ is compositional inverse of $h(t)$, i.e., $h(\bar{h}(t)) = \bar{h}(h(t)) = t$.

If $(b_n)_{n \in \mathbb{N}}$ is any sequence having $b(t) = \sum_{n=0}^{\infty} b_n t^n$ as its generating function, then for every Riordan array $(d(t), h(t)) = (g_{n,k})_{n,k \in \mathbb{N}}$

$$\sum_{k=0}^n g_{n,k} b_k = [t^n]d(t)b(h(t)). \tag{2.3}$$

This is called the fundamental theorem of Riordan arrays, and it can be rewritten as

$$(d(t), h(t))b(t) = d(t)b(h(t)). \tag{2.4}$$

A characterization of Riordan arrays was established by Merlini, et al. [10] as follows.

Lemma 2.1. *A lower triangular array $(g_{n,k})_{n,k \in \mathbb{N}}$ is a Riordan array if and only if there exists another array $(\alpha_{i,j})_{i,j \in \mathbb{N}}$, with $\alpha_{0,0} \neq 0$, and s sequences $\{\rho_j^{[i]}\}_{j \in \mathbb{N}}$, $i = 1, 2, \dots, s$, such that*

$$g_{n+1,k+1} = \sum_{i \geq 0} \sum_{j \geq 0} \alpha_{i,j} g_{n-i,k+j} + \sum_{i=1}^s \sum_{j \geq 0} \rho_j^{[i]} g_{n+i,k+i+j+1}. \tag{2.5}$$

The array $(\alpha_{i,j})_{i,j \in \mathbb{N}}$ in this lemma is called the A -matrix of the Riordan array $(g_{n,k})_{n,k \in \mathbb{N}} = (d(t), h(t))$. If $\Phi^{[i]}(t)$ denotes the generating functions of i th row of the A -matrix and $\Psi^{[i]}(t)$

is the generating function for the sequence $\{\rho_j^{[i]}\}_{j \in \mathbb{N}}$, then $h(t)$ is determined by [10]

$$h(t) = \sum_{i \geq 0} t^{i+1} \Phi^{[i]}(h(t)) + \sum_{i=1}^s t^{1-i} h(t)^{i+1} \Psi^{[i]}(h(t)). \tag{2.6}$$

If column 0 of the Riordan array $(g_{n,k})_{n,k \in \mathbb{N}} = (d(t), h(t))$ is defined by

$$g_{n+1,0} = \sum_{i \geq 0} \sum_{j \geq 0} \beta_{i,j} g_{n-i,j} + \sum_{i=1}^s \sum_{j \geq 0} \eta_j^{[i]} g_{n+i,i+j+1}, \quad n \geq 0, \tag{2.7}$$

then the function $d(t)$ is given by the following formula:

$$d(t) = \frac{g_{0,0}}{1 - \sum_{i \geq 0} t^{i+1} R^{[i]}(h(t)) - t \sum_{i=1}^s t^{1-i} h(t)^i S^{[i]}(h(t))}, \tag{2.8}$$

where $R^{[i]}(t) = \sum_{j \geq 0} \beta_{i,j} t^j$, $i = 0, 1, \dots$, and $S^{[i]}(t) = \sum_{j \geq 0} \eta_j^{[i]} t^j$, $i = 0, 1, \dots, s$.

Now, we will show that the right half of the Pascal rhombus, and the left-bounded rhombus can be represented as Riordan arrays.

Theorem 2.2. *Let $R^{(2)} = (r_{n,k})_{n,k \in \mathbb{N}}$ denote the right half of the Pascal rhombus. Then,*

$$R^{(2)} = \left(\frac{1}{\sqrt{(1-t-t^2)^2 - 4t^2}}, \frac{1-t-t^2 - \sqrt{(1-t-t^2)^2 - 4t^2}}{2t} \right).$$

Proof. It follows from (1.1) and Lemma 2.1 that $R^{(2)} = (r_{n,k})_{n,k \in \mathbb{N}}$ is a Riordan array $(d(t), h(t))$ with the A -matrix

$$A = \begin{pmatrix} 1 & 1 & 1 & \cdots \\ 0 & 1 & 0 & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

where the entries $\alpha_{0,0} = \alpha_{0,1} = \alpha_{0,2} = \alpha_{1,1} = 1$, whereas the other entries are all equal to 0. Now, we can directly use (2.6) to obtain the function $h(t)$. Because $\Phi^{[0]}(t) = 1 + t + t^2$, $\Phi^{[1]}(t) = t$, $\Phi^{[i]}(t) = 0$ for $i \geq 2$, and $\Psi^{[i]}(t) = 0$ for $i \geq 1$, therefore, $h(t)$ is the solution to the equation

$$h(t) = t(1 + h(t) + h(t)^2) + t^2 h(t),$$

from which it follows $h(t) = \frac{1-t-t^2 - \sqrt{(1-t-t^2)^2 - 4t^2}}{2t}$.

The column 0 of the Riordan array $(r_{n,k})_{n,k \in \mathbb{N}} = (d(t), h(t))$ satisfies

$$r_{i+1,0} = r_{i,0} + 2r_{i,1} + r_{i-1,0}.$$

Hence from (2.8), the function $d(t)$ is given by

$$d(t) = \frac{1}{1 - t(1 + 2h(t)) - t^2} = \frac{1}{\sqrt{(1-t-t^2)^2 - 4t^2}}.$$

□

Theorem 2.3. *The left-bounded rhombus $S^{(2)} = (s_{n,k})_{n,k \in \mathbb{N}}$ is the Riordan array*

$$S^{(2)} = \left(\frac{1-t-t^2 - \sqrt{(1-t-t^2)^2 - 4t^2}}{2t^2}, \frac{1-t-t^2 - \sqrt{(1-t-t^2)^2 - 4t^2}}{2t} \right).$$

Proof. The proof is similar to that of Theorem 2.2, so it was omitted.

□

3. THE COMBINATORIAL INTERPRETATION AND GENERALIZATION

A Motzkin path of length n is a lattice path from $(0,0)$ to $(n,0)$ consisting of up steps $U = (1,1)$, horizontal steps $H_1 = (1,0)$, and down steps $D = (1,-1)$ that never goes below the x -axis. The number of Motzkin paths of length n is the n th Motzkin number M_n , and the Motzkin numbers form the sequence A001006 in [12]. Many other examples of bijections between Motzkin paths and other combinatorial objects can be found in [2, 3, 5, 15, 17]. A grand Motzkin path of length n is a Motzkin path without the condition that it never passes below the x -axis. The number of grand Motzkin paths of length n is the n th grand Motzkin number G_n , and the sequence of grand Motzkin numbers (central trinomial coefficients) is the sequence A002426 in [12].

Let k be a positive integer. A k -generalized grand Motzkin path of length n is a lattice path from $(0,0)$ to $(n,0)$ with up steps $U = (1,1)$, down steps $D = (1,-1)$, and horizontal steps $H_i = (i,0)$, $i = 1, 2, \dots, k$, and the number of these paths of length n is denoted by $r_n^{(k)}$. The set of all partial k -generalized grand Motzkin paths ending at (i, j) is denoted by $\mathcal{R}_{i,j}^{(k)}$, and $r_{i,j}^{(k)} = |\mathcal{R}_{i,j}^{(k)}|$. Then $r_{n,0}^{(k)} = r_n^{(k)}$.

A k -generalized Motzkin path of length n is a lattice path from $(0,0)$ to $(n,0)$ consisting of up steps $U = (1,1)$, down steps $D = (1,-1)$, and horizontal steps $H_i = (i,0)$, $i = 1, 2, \dots, k$, and that it never goes below the x -axis. The number of k -generalized Motzkin paths of length n is denoted by $s_n^{(k)}$. A partial k -generalized Motzkin path, also called a k -generalized Motzkin path ending at (i, j) , is defined as an initial segment of a k -generalized Motzkin path with terminal point (i, j) . Let $\mathcal{S}_{i,j}^{(k)}$ be the set of all partial k -generalized Motzkin paths ending at (i, j) , where $\mathcal{S}_{0,0}^{(k)} = \{\varepsilon\}$ and ε is the empty path. Let $s_{i,j}^{(k)} = |\mathcal{S}_{i,j}^{(k)}|$. Then $s_{n,0}^{(k)} = s_n^{(k)}$.

Ramírez [13] shows a relation between the entries of the Pascal rhombus and the 2-generalized grand Motzkin paths as follows.

Theorem 3.1. ([13]) *The number of the 2-generalized grand Motzkin paths of length n and height j is equal to the entry $r_{n,j}$ in the Pascal rhombus, i.e., $r_{n,j} = |\mathcal{R}_{n,j}^{(2)}|$, where $n, j \in \mathbb{N}$.*

In Figure 2, we give an illustration of recursion of the partial 2-generalized Motzkin paths in $\mathcal{S}_{i,j}^{(2)}$. Consequently, $s_{i,j}^{(2)} = |\mathcal{S}_{i,j}^{(2)}|$ satisfies the recurrence relation and the boundary conditions of (1.2), and hence, we have the following theorem.

Theorem 3.2. *The number of the 2-generalized Motzkin paths of length n and height j is equal to the entry $s_{n,j}$ in the left-bounded rhombus, i.e., $s_{n,j}^{(2)} = s_{n,j}$, where $n, j \in \mathbb{N}$.*

Motivated by the previous two theorems, we introduce a generalization of the Pascal rhombus as follows.

Definition 3.3. *For a fixed positive integer k , the k -generalized Pascal rhombus $\mathcal{R}^{(k)} = (r_{i,j}^{(k)})_{i \in \mathbb{N}, j \in \mathbb{Z}}$ is defined by $r_{i,j}^{(k)} = |\mathcal{R}_{i,j}^{(k)}|$, and the left-bounded k -generalized rhombus $S^{(k)} = (s_{i,j}^{(k)})_{i,j \in \mathbb{N}}$ is defined by $s_{i,j}^{(k)} = |\mathcal{S}_{i,j}^{(k)}|$.*

For $k = 1$, $\mathcal{R}^{(1)}$ and $S^{(1)}$ are the grand Motzkin array (trinomial coefficients) and the Motzkin triangle, as illustrated in Figure 3.

For $k = 2$, $\mathcal{R}^{(2)}$ and $S^{(2)}$ are the Pascal rhombus and the left-bounded rhombus, as illustrated in Figure 1.

For $k = 3$, $\mathcal{R}^{(3)}$ and $S^{(3)}$ are illustrated in Figure 4.

Proof. From recurrence relations (3.1), the array $R^{(k)} = (r_{n,j}^{(k)})_{n,j \in \mathbb{N}}$ has the A -matrix

$$A = \begin{pmatrix} 1 & 1 & 1 & \cdots \\ 0 & 1 & 0 & \cdots \\ \vdots & \vdots & \vdots & \vdots \\ 0 & 1 & 0 & \cdots \\ \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

where the entries $\alpha_{0,0} = \alpha_{0,1} = \alpha_{0,2} = \alpha_{1,1} = \alpha_{2,1} = \cdots = \alpha_{k,1} = 1$, whereas the other entries are all equal to 0. Hence, it follows from Lemma 2.1 that $R^{(k)} = (r_{n,j}^{(k)})_{n,j \in \mathbb{N}}$ is a Riordan array $(d(t), h(t))$. Now, we can directly use (2.6) to obtain the function $h(t)$. Because $\Phi^{[0]}(t) = 1 + t + t^2$, $\Phi^{[i]}(t) = t$ for $i = 1, \dots, k$, and $\Phi^{[i]}(t) = 0$ for $i > k$; and $\Psi^{[i]}(t) = 0$ for $i \geq 1$, therefore, $h(t)$ is the solution to the equation

$$h(t) = t(1 + h(t) + h(t)^2) + t^2h(t) + \cdots + t^k h(t),$$

from which it follows $h(t) = \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t}$.

The column 0 of the Riordan array $(r_{n,j}^{(k)})_{n,j \in \mathbb{N}} = (d(t), h(t))$ satisfies

$$r_{i+1,0} = r_{i,0} + 2r_{i,1} + r_{i-1,0} + \cdots + r_{i-k+1,0}.$$

Hence from (2.8), the function $d(t)$ is given by

$$d(t) = \frac{1}{1-t(1+2h(t))-t^2-\dots-t^k} = \frac{1}{\sqrt{(1-t-\dots-t^k)^2-4t^2}}.$$

This completes the proof. □

Theorem 3.5. *The k -generalized left-bounded rhombus $S^{(k)} = (s_{n,j}^{(k)})_{n,j \in \mathbb{N}}$ is the Riordan array*

$$S^{(k)} = \left(\frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t^2}, \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t} \right). \tag{3.3}$$

Proof. The array $S^{(k)} = (s_{n,j}^{(k)})_{n,j \in \mathbb{N}}$ has the same A -matrix with the array $R^{(k)} = (r_{n,j}^{(k)})_{n,j \in \mathbb{N}}$. Hence, it follows from Lemma 2.1 that $S^{(k)} = (s_{n,j}^{(k)})_{n,j \in \mathbb{N}}$ is a Riordan array $(d(t), h(t))$, and $h(t) = \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t}$.

The column 0 of the Riordan array $S^{(k)} = (s_{n,j}^{(k)})_{n,j \in \mathbb{N}} = (d(t), h(t))$ satisfies

$$s_{i+1,0} = s_{i,0} + s_{i,1} + s_{i-1,0} + \cdots + s_{i-k+1,0}.$$

Hence from (2.8), the function $d(t)$ is given by

$$d(t) = \frac{1}{1-t(1+h(t))-t^2-\dots-t^k} = \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t^2},$$

and this completes the proof. □

For example,

$$R^{(3)} = \left(\frac{1}{\sqrt{(1-t-t^2-t^3)^2-4t^2}}, \frac{1-t-t^2-t^3-\sqrt{(1-t-t^2-t^3)^2-4t^2}}{2t} \right),$$

$$S^{(3)} = \left(\frac{1-t-t^2-t^3-\sqrt{(1-t-t^2-t^3)^2-4t^2}}{2t^2}, \frac{1-t-t^2-t^3-\sqrt{(1-t-t^2-t^3)^2-4t^2}}{2t} \right).$$

4. CONNECTION WITH THE k -BONACCI SEQUENCE

The convolved k -Bonacci numbers $T_i^{(r)}$ are defined by [14]

$$\left(\frac{1}{1-t-\dots-t^k}\right)^r = \sum_{i=0}^{\infty} T_i^{(r)} t^i, \quad r \in \mathbb{Z}^+.$$

If $r = 1$, we have the k -Bonacci sequence $(T_i)_{i \geq 0}$ with the generating function $\frac{1}{1-t-\dots-t^k} = \sum_{i=0}^{\infty} T_i t^i$. The generic entry of the Riordan array $\left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k}\right)$ is given by the convolved k -Bonacci number $T_{i-j}^{(j+1)}$.

Using the ordinary multinomial number $\binom{n}{j}_s$, which is defined as the j th coefficient in the development [1]

$$(1+t+t^2+\dots+t^s)^n = \sum_{j=0}^{ns} \binom{n}{j}_s t^j,$$

we have $\left(\frac{1}{1-t-\dots-t^k}\right)^r = \sum_{n=0}^{\infty} \binom{n+r-1}{n} t^n (1+t+\dots+t^{k-1})^n = \sum_{n=0}^{\infty} \sum_{j=0}^{n(k-1)} \binom{n+r-1}{n} \binom{n}{j}_{k-1} t^{n+j}$. Therefore, the convolved k -Bonacci number can be written as

$$T_i^{(r)} = \sum_{j=0}^{\lfloor \frac{(k-1)i}{k} \rfloor} \binom{i-j+r-1}{i-j} \binom{i-j}{j}_{k-1}.$$

Theorem 4.1. *We have the matrix relation*

$$R^{(k)} = \left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k}\right) \left(\frac{1}{\sqrt{1-4t^2}}, \frac{1-\sqrt{1-4t^2}}{2t}\right). \tag{4.1}$$

Moreover, $r_{i,j}^{(k)}$ is given by the formula

$$r_{i,j}^{(k)} = \sum_{l=j}^i T_{i-l}^{(l+1)} \binom{l}{l-j}_2, \quad 0 \leq j \leq i. \tag{4.2}$$

Proof. By applying the product rule (2.1) and Theorem 3.5, we obtain (4.1). Since the generic element of the Riordan array $\left(\frac{1}{\sqrt{1-4t^2}}, \frac{1-\sqrt{1-4t^2}}{2t}\right)$ is $b_{i,j} = \binom{i}{i-j}_2$, the generic entry of $R^{(k)}$ is given by $r_{i,j}^{(k)} = \sum_{l=j}^i T_{i,l} b_{l,j} = \sum_{l=j}^i T_{i-l}^{(l+1)} \binom{l}{l-j}_2$. \square

Theorem 4.2. *The generating function for the row sums of the k -generalized Pascal rhombus $\mathcal{R}^{(k)} = (r_{i,j}^{(k)})_{i \in \mathbb{N}, j \in \mathbb{Z}}$ is given by*

$$\sum_{n=0}^{\infty} R_n^{(k)} t^n = \frac{1}{1-3t-t^2-\dots-t^k}. \tag{4.3}$$

Moreover, we have the formula

$$R_n^{(k)} = \sum_{j=0}^n T_{n-j}^{(j+1)} 2^j. \tag{4.4}$$

Proof. The half of the k -generalized Pascal rhombus is the Riordan array

$$R^{(k)} = \left(\frac{1}{\sqrt{(1-t-\dots-t^k)^2-4t^2}}, \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t}\right).$$

By the symmetry, the row sums of $\mathcal{R}^{(k)}$ equals $R_n^{(k)} = \sum_{j=-n}^n r_{n,j}^{(k)} = 2 \sum_{j=0}^n r_{n,j}^{(k)} - r_{n,0}^{(k)}$. Applying the production rule (1.1), the generating function $R(t) = \sum_{n=0}^{\infty} R_n^{(k)} t^n$ is

$$\begin{aligned} R(t) &= \left(\frac{1}{\sqrt{(1-t-\dots-t^k)^2-4t^2}}, \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t} \right) \cdot \left(\frac{2}{1-t} - 1 \right) \\ &= \left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k} \right) \left(\frac{1}{\sqrt{1-4t^2}}, \frac{1-\sqrt{1-4t^2}}{2t} \right) \cdot \frac{1+t}{1-t} \\ &= \left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k} \right) \cdot \frac{1}{1-2t} \\ &= \frac{1}{1-3t-t^2-\dots-t^k}. \end{aligned}$$

Finally, by the last equation above, we obtain $R_n^{(k)} = \sum_{j=0}^n T_{n-j}^{(j+1)} 2^j$. □

Theorem 4.3. *We have the matrix relation*

$$S^{(k)} = \left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k} \right) \left(\frac{1-\sqrt{1-4t^2}}{2t^2}, \frac{1-\sqrt{1-4t^2}}{2t} \right). \tag{4.5}$$

Moreover, it follows that $s_{i,j}^{(k)}$ is given by the formula

$$s_{i,j}^{(k)} = \sum_{l=j}^i T_{i-l}^{(l+1)} \frac{j+1}{l+1} \binom{l}{\frac{l-j}{2}}. \tag{4.6}$$

Proof. By applying the product rule (2.1) and Theorem 3.5, we obtain (4.5). Since the generic element of the Riordan array $\left(\frac{1-\sqrt{1-4t^2}}{2t^2}, \frac{1-\sqrt{1-4t^2}}{2t} \right)$ is $c_{i,j} = \frac{j+1}{i+1} \binom{i+1}{\frac{i-j}{2}}$, the generic entry of the k -generalized left-bounded Pascal rhombus is given by $s_{i,j}^{(k)} = \sum_{l=j}^i T_{i,l} c_{l,j} = \sum_{l=j}^i T_{i-l}^{(l+1)} \frac{j+1}{l+1} \binom{l}{\frac{l-j}{2}}$. □

Theorem 4.4. *The generating function for the row sums of the k -generalized left-bounded rhombus $S^{(k)} = (s_{i,j}^{(k)})_{i,j \in \mathbb{N}}$ is given by*

$$\sum_{n=0}^{\infty} S_n^{(k)} t^n = \frac{1}{\sqrt{(1-t-\dots-t^k)^2-4t^2}} \left(1 + \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t} \right). \tag{4.7}$$

Moreover, we have the formula

$$S_n^{(k)} = \sum_{j=0}^n T_{n-j}^{(j+1)} \binom{j}{\lfloor \frac{j}{2} \rfloor}. \tag{4.8}$$

Proof. By applying

$$\left(\frac{1-\sqrt{1-4t^2}}{2t^2}, \frac{1-\sqrt{1-4t^2}}{2t} \right) \frac{1}{1-t} = \frac{1}{\sqrt{1-4t^2}} \left(1 + \frac{1-\sqrt{1-4t^2}}{2t} \right),$$

we have

$$\begin{aligned}
 S(t) &= \left(\frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t^2}, \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t} \right) \cdot \frac{1}{1-t} \\
 &= \left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k} \right) \left(\frac{1-\sqrt{1-4t^2}}{2t^2}, \frac{1-\sqrt{1-4t^2}}{2t} \right) \cdot \frac{1}{1-t} \\
 &= \left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k} \right) \cdot \frac{1}{\sqrt{1-4t^2}} \left(1 + \frac{1-\sqrt{1-4t^2}}{2t} \right) \\
 &= \frac{1}{\sqrt{(1-t-\dots-t^k)^2-4t^2}} \left(1 + \frac{1-t-\dots-t^k-\sqrt{(1-t-\dots-t^k)^2-4t^2}}{2t} \right).
 \end{aligned}$$

Expanding $\frac{1}{\sqrt{1-4t^2}} \left(1 + \frac{1-\sqrt{1-4t^2}}{2t} \right)$ as follows

$$\frac{1}{\sqrt{1-4t^2}} + \frac{1}{\sqrt{1-4t^2}} \cdot \frac{1-\sqrt{1-4t^2}}{2t} = \sum_{j=0}^{\infty} \binom{2j}{j} t^{2j} + \sum_{j=0}^{\infty} \binom{2j+1}{j} t^{2j+1},$$

it is straightforward to obtain $S_n^{(k)} = \sum_{j=0}^n T_{n-j}^{(j+1)} \binom{j}{\lfloor \frac{j}{2} \rfloor}$ from the matrix equation

$$S(t) = \left(\frac{1}{1-t-\dots-t^k}, \frac{t}{1-t-\dots-t^k} \right) \cdot \frac{1}{\sqrt{1-4t^2}} \left(1 + \frac{1-\sqrt{1-4t^2}}{2t} \right). \quad \square$$

From (4.7) and Theorem 3.4, we find that the generating function for the row sums of the k -generalized left-bounded rhombus is equal to the sum of the generating functions of the first two columns of $R^{(k)}$. Hence, $S_n^{(k)} = r_{n,0}^{(k)} + r_{n,1}^{(k)}$.

Example 4.5. For $k = 2$, we have

$$\begin{aligned}
 R^{(2)} &= \left(\frac{1}{1-t-t^2}, \frac{t}{1-t-t^2} \right) \left(\frac{1}{\sqrt{1-4t^2}}, \frac{1-\sqrt{1-4t^2}}{2t} \right), \\
 S^{(2)} &= \left(\frac{1}{1-t-t^2}, \frac{t}{1-t-t^2} \right) \left(\frac{1-\sqrt{1-4t^2}}{2t^2}, \frac{1-\sqrt{1-4t^2}}{2t} \right).
 \end{aligned}$$

Using the first six rows of these matrices, we have the matrix identities:

$$\begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 4 & 2 & 1 & 0 & 0 & 0 \\ 9 & 8 & 3 & 1 & 0 & 0 \\ 29 & 22 & 13 & 4 & 1 & 0 \\ 82 & 72 & 42 & 19 & 5 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 2 & 2 & 1 & 0 & 0 & 0 \\ 3 & 5 & 3 & 1 & 0 & 0 \\ 5 & 10 & 9 & 4 & 1 & 0 \\ 8 & 20 & 22 & 14 & 5 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 2 & 0 & 1 & 0 & 0 & 0 \\ 0 & 3 & 0 & 1 & 0 & 0 \\ 6 & 0 & 4 & 0 & 1 & 0 \\ 0 & 10 & 0 & 5 & 0 & 1 \end{pmatrix},$$

$$\begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 3 & 2 & 1 & 0 & 0 & 0 \\ 6 & 7 & 3 & 1 & 0 & 0 \\ 16 & 18 & 12 & 4 & 1 & 0 \\ 40 & 53 & 37 & 18 & 5 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 2 & 2 & 1 & 0 & 0 & 0 \\ 3 & 5 & 3 & 1 & 0 & 0 \\ 5 & 10 & 9 & 4 & 1 & 0 \\ 8 & 20 & 22 & 14 & 5 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 1 & 0 & 1 & 0 & 0 & 0 \\ 0 & 2 & 0 & 1 & 0 & 0 \\ 2 & 0 & 3 & 0 & 1 & 0 \\ 0 & 5 & 0 & 4 & 0 & 1 \end{pmatrix}.$$

Example 4.6. For $k = 3$, we have

$$R^{(3)} = \left(\frac{1}{1-t-t^2-t^3}, \frac{t}{1-t-t^2-t^3} \right) \left(\frac{1}{\sqrt{1-4t^2}}, \frac{1-\sqrt{1-4t^2}}{2t} \right),$$

$$S^{(3)} = \left(\frac{1}{1-t-t^2-t^3}, \frac{t}{1-t-t^2-t^3} \right) \left(\frac{1-\sqrt{1-4t^2}}{2t^2}, \frac{1-\sqrt{1-4t^2}}{2t} \right).$$

Using the first six rows of these matrices, we have the following matrix identities:

$$\begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 4 & 2 & 1 & 0 & 0 & 0 \\ 10 & 8 & 3 & 1 & 0 & 0 \\ 31 & 24 & 13 & 4 & 1 & 0 \\ 93 & 78 & 45 & 19 & 5 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 2 & 2 & 1 & 0 & 0 & 0 \\ 4 & 5 & 3 & 1 & 0 & 0 \\ 7 & 12 & 9 & 4 & 1 & 0 \\ 13 & 26 & 25 & 14 & 5 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 2 & 0 & 1 & 0 & 0 & 0 \\ 0 & 3 & 0 & 1 & 0 & 0 \\ 6 & 0 & 4 & 0 & 1 & 0 \\ 0 & 10 & 0 & 5 & 0 & 1 \end{pmatrix},$$

$$\begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 3 & 2 & 1 & 0 & 0 & 0 \\ 7 & 7 & 3 & 1 & 0 & 0 \\ 18 & 20 & 12 & 4 & 1 & 0 \\ 48 & 59 & 40 & 18 & 5 & 1 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 1 & 1 & 0 & 0 & 0 & 0 \\ 2 & 2 & 1 & 0 & 0 & 0 \\ 4 & 5 & 3 & 1 & 0 & 0 \\ 7 & 12 & 9 & 4 & 1 & 0 \\ 13 & 26 & 25 & 14 & 5 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 1 & 0 & 1 & 0 & 0 & 0 \\ 0 & 2 & 0 & 1 & 0 & 0 \\ 2 & 0 & 3 & 0 & 1 & 0 \\ 0 & 5 & 0 & 4 & 0 & 1 \end{pmatrix}.$$

ACKNOWLEDGEMENTS

The authors thank the editor and anonymous referees for their careful reading and helpful comments.

REFERENCES

- [1] M. Ahmia and H. Belbachir, *Preserving log-convexity for generalized Pascal triangles*, Electron. J. Combin., **19.2** (2012), #P16.
- [2] M. Aigner, *Motzkin numbers*, European J. Combin., **19** (1998), 663–675.
- [3] W. Y. C. Chen, N. Y. Li, L. W. Shapiro, and S. H. F. Yan, *Matrix identities on weighted partial Motzkin paths*, European J. Combin., **28** (2007), 1196–1207.
- [4] G. S. Cheon, H. Kim, and L. W. Shapiro, *Combinatorics of Riordan arrays with identical A and Z sequences*, Discrete Math., **312** (2012), 2040–2049.
- [5] E. Deutsch and L. Shapiro, *A bijection between ordered tree and 2-Motzkin paths and many its consequences*, Discrete Math., **256** (2002), 655–670.
- [6] J. Goldwasser, W. F. Klostermeyer, M.E. Mays, and G. Trapp, *The density of ones in Pascal’s rhombus*, Discrete Math., **204** (1999), 231–236.
- [7] T. X. He and R. Sprugnoli, *Sequence characterization of Riordan arrays*, Discrete Math., **309** (2009), 3962–3974.
- [8] W. Klostermeyer, M. Mays, L. Soltes, and G. Trapp, *A Pascal rhombus*, The Fibonacci Quarterly, **35.4** (1997), 318–328.
- [9] A. Luzón, D. Merlini, M. Morón, and R. Sprugnoli, *Identities induced by Riordan arrays*, Linear Algebra Appl., **436** (2011), 631–647.
- [10] D. Merlini, D. G. Rogers, R. Sprugnoli, and M. C. Verri, *On some alternative characterizations of Riordan arrays*, Canad. J. Math., **49** (1997), 301–320.
- [11] Y. Moshe, *The density of 0’s in recurrence double sequences*, J. Number Theory, **103** (2003), 109–121.
- [12] OEIS Foundation Inc. (2017), The On-Line Encyclopedia of Integer Sequences, <http://oeis.org>.

- [13] J. Ramírez, *The Pascal rhombus and the generalized grand Motzkin paths*, The Fibonacci Quarterly, **54.2** (2016), 99–104.
- [14] J. Ramírez and V. F. Sirvent, *A generalization of the k -Bonacci sequence from Riordan arrays*, Electron. J. Combin., **22.1** (2015), #P1.38.
- [15] A. Sapounakis and P. Tsikouras, *Counting peaks and valleys in k -colored Motzkin paths*, Electron. J. Combin., **12** (2005), #R16.
- [16] L. W. Shapiro, S. Getu, W. J. Woan, and L. Woodson, *The Riordan Group*, Discrete Appl. Math., **34** (1991), 229–239.
- [17] R. P. Stanley, *Enumerative Combinatorics*, Vol. 2, Cambridge University Press, Cambridge, 1999.
- [18] P. K. Stockmeyer, (2015), The Pascal rhombus and the stealth configuration, <http://arxiv.org/abs/1504.04404>.
- [19] S. L. Yang, S. N. Zheng, S. P. Yuan, and T. X. He, *Schröder matrix as inverse of Delannoy matrix*, Linear Algebra Appl., **439** (2013), 3605–3614.

MSC2010: 05A15, 05A19, 11B37, 11B39, 15A24

DEPARTMENT OF APPLIED MATHEMATICS, LANZHOU UNIVERSITY OF TECHNOLOGY, LANZHOU, 730050, GANSU, PR CHINA

E-mail address: slyang@lut.cn

DEPARTMENT OF APPLIED MATHEMATICS, LANZHOU UNIVERSITY OF TECHNOLOGY, LANZHOU, 730050, GANSU, PR CHINA

E-mail address: 903623012@qq.com